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Kanna and its sister
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=86 J=8 is a verb which does not clarify its meaning with its J<lb. Rather to clarify its meaning it requires an accusative noun (ew! © gaie).
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0a8L Jadis a verb which does not have a J<l but an e«l,and it does not clarify its meaning with its e«!. Rather to clarify its meaning it requires an accusative
noun (ewl © gaie) which is called its s
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58 Llgsl 958 are just like &) &lgsTg &) which you have already read about. You have learnt about i) which is one of &8 &g, In this lesson we will learn about
8.
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The Rules of Incomplete Verb KANA
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Kana is Fa’il Naagqis. It does not complete its meaning with its Faa’il (doer).
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08 occurs before a nominal sentence. Then i becomes [::@éw! and s> becomes OB .
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After occurring before a nominal sentence 08brings fwiue and a3 under its own prescript of E’iraab. o€ makes its | marfoo and its »> mansoob.( Remember
that &€ @«! which was faiue was also marfoo but now it is marfoo because of o8, because it is &8 @l The cause of a5,has changed.

-‘Ll:'ngj.c‘:u'zhg}”({lﬁc;é.ﬂ‘: oS-

o’Renders the nominal sentence to be in past tense.
"% - R -
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(Yasir was sick « L;Jl(:/k) L—sz-,{f/ ;ﬂ/\g/ O/L{

e Fnf Dini PSS e F Ay 1 Az i) S S

OB 5 can be 520 (one word) or 4wl de (nominal sentence) or 4das 4> (verbal sentence). It can also be 3 sioxe (omitted).
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Like other verbs 0§ has its conjugation in oL, ¢ Jas, yol and (0.
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The root of 08is (0 95 ). In &3 the second radical 3 is a <ds <& . So it’s harkah is dropped and is given a sukoon. As the previous letter S has a fatha, s is
changed into <&l according to the rule of cilae (compatibility).
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Though 08 is a 4a3L J=b (an incomplete verb), rules of verb apply to it. So if o8 has an s ewl, the verb is always singular.
However, it will be masculine or feminine according to the gender of the noun. e.g

(FF e L) S W36 1 0 o

The girl was hard working. The boy was hard working

(5 U)o o e (GG L) e 00 5

The two girls were hard working. The two boys were hard working

(EFWI) i 2 oS (L) iae N 58

All the girls were hard working. All the boys were hard working.

_‘at’n/’/gg}yuﬁc«//d//u?n;ﬁw(%u(/l -

If 58 sl is not an wU> ewl then it is an attached pronoun, either hidden or visible.

. 7 . » P -
(AII of you were wrongdoers.&J}JHw h,—"‘() L}}l;tk v;y
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Under certain conditions Kana sometimes occurs as a regular verb. That means it has a Jsl and a Jsxéa
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Verbal Sentence Nominal Sentence
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The man was sick.

The man is sick.

Lo,y J2§ O MY
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The girl is sick.

& rd?

The girl was sick.

\

w,’f - "} . “
‘\"'9-’..)/" >

www.lughatulquran.com © copy rights reserved Anjum gillani



http://www.lughatulquran.com/

(oo Sl e OT AN )

39
gL 0

Lesson 7

(i) i adh 2o

o,
Conjugation of Q‘S‘
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The third radical (J kalimah) gets a sukoon after pronoun .
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Kawana+ Na--->asqat harkat of wow and by rule of mutabagat kaf will
have a damma---> Koona+Na---> because of noon niswan the preceding
letter (noon) will have a skoon---> ljtama sakinain---> wow,

Being a herf lllat, is dropped and two identical letters, Noon are merged
together. This applies to only nine Mutahrik (with Harkahs) Dhamaair.
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Complete verb
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Difference between Inna & sisters and Kana & sisters.

(B Job ) 56

(omti 3 453D ) O)

_‘auﬁt'/‘/ccadgdlf 1

Kana is an incomplete verb (J=3).

e Qnar® Fulld oK S 2

Ismu Kana is marfoo and Khabru Kana is mansoob

_%Vn#M‘MLDLnC}/&LoK 3

The sentence which begins with Kana is a verbal sentence.

ite zvéufwfu&;ug Js 4

Because of Kana there are changes both in E'raab as well as meanings. Kana
gives the meaning of past tense.

Innais a (<8 ,>)

q.@n&:;//?m?ﬂ"(’lK 3 2

Ismu Inna is mansoob and Khabru Inna is marfoo.

_‘at‘nzx“lMcMLbJ_nC:/acjl/.3

The sentence which begins with Inna is a nominal sentence.

.5//,145_[}”&“ KU IS L TL S 4
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Inna brings about changes in E’raab and creates only emphasis.
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